INDEX

Using the list 1st below, result’s value would be: [(*pretzels’,

(chips’, 3), (’carrots’, 6)] T Usnaos | nomsa)

Note that the numbers in the list of tuples reflect one more than the onnuml order for cach

shack.

Write your code below and be sure result’s mhu is (h« answer
snacks = [pretzels , ’cookies’, cmps B caxrots]
numbers = [5, 4, 2, 5]
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Part E (8 pts) (8 minutes)
aned howManyInRange that has one parameter named datalist
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roturn sorted(d.items(), key-lasbda x:x{1], reverse-True)
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Part D) (8 pts) (8 minutes)
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def mostLiked(datalist):
= dictpersonTortens(datalist)
maxSize = max([len(v) for v in d.valves(}])
maxpeople = [name for (name,itemlist) in d.items() if len(itemlist) == maxSize]
zeturn sorted (naxPeople)
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“Computers are good at following instructions, but
not at reading your mind.” - Donald Kuth

L
“Everybody should learn to program a Q
computer, because it teaches you how t S
think.” - Steve Jobs
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PART D (3 pts)
1st4 = [7, 4, 2]
1stbs = 1st4
1st4[0] = [3]
1st5[-1]

1st4 = 1std + [8]
print (1st4)
print (1st5)

Output:

Python 3.6

Known limitations
1std = [7, 4, 2]
1s5t5 = 1std
1st4[0] = [3]
1sts5[-1] = 9
1st4 = 1st4 + [8]
print(lstd)
print(lst5)

Edit this code
line that just executed
= next line to execute

l <<Fist  <Prev

Done running (7 steps)
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